MATH 1103 COMMON FINAL EXAM
MULTIPLE CHOICE SECTION
Spring 2011

Please print the following information:

Name: Instructor:

Student 1D: Section/Time:

The MATH 1103 Final Exam consists of two parts. These pages contain Part |
which consists of 35 multiple choice questions. They are printed on the front and the back
of each page. A special answer sheet is provided so that your answers can be machine
graded.

Part II consists of free response questions prepared by your instructor. You have
three hours for the entire test.

e You must use a pencil with a soft black lead (#2 or HB) to enter your answers on
the answer sheet.

e For each question choose the response which best fits the question.

e If you wish to change an answer, make sure that you completely erase your old
answer and any other extraneous marks.

e There is no penalty for guessing. However if you mark more than one answer to a
question, that question will be scored as incorrect.

e You may perform your calculations on the test itself or on scratch paper, but do
not make any stray marks on the answer sheet.

o Make sure that your name appears on the answer sheet and that you fill in the
circles corresponding to your name.

e The use of a TI-89 or a TI-92 calculator on this test is a violation of the Code of
Student Conduct.

At the end of the examination you MUST hand in this booklet, your answer
sheet and all scratch paper.
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Final Exam

Math 1103, Spring 2011

ind the equation of the line that is parallel to 4x — y + 5 = 0 and passes through the point (=5,3)

F

a 4x-y-17=0

b. 4x—-y-5=0

c. —4x+y-5=0

d 4x-y+23=0

e. None of the above

Find the domain of the function f(x) = 2:31‘

a. (~09,~3)U(—3;)
o (- Yu(-1o)
¢ Cou(-he)
o (- Yucao)

e. (—oo,c0)

Which of the following functions is/are odd

f(x)=3
glx)=x3+3
hix) = —x
Tonly

a
b. Ilonly

c. 1l only

d. 1l and III only
e. I, IlandIll

Find the value of f(3), if

oesgrts -2<x<2
f(x)z{x—s, x> 2
a. -l6
b. 0
c. -5
d. -2
e. 4



e. None of the above

Which of the following numbers is NOT a potential rational root of

f(x) =18x3 —9x? = 5x + 2

3
a3
2
b' i
9
c. 2
1
d. -
o

1

e, —-

The erz; hof y = (x — 4)? + 5 can be obtained by the transformation of g(x) = x*. Which of the
grap

following transformations must be used?

A Move 5 units down.
11. Move 5 units up.
111. Move 4 units down.
V. Move 4 units left
V. Move 4 units right.

a. V, thenll
1V, then 11
I11, then 1
11, then 111
111, then 11

o oo o

Find the inverse function of f(x) = 3**2,

1

£ =
f—I(x) = _31‘+2
f7H(x) = logs(x + 2)
S (x) = =2 +logz(x)
None of the above

® a0 o W

The vertex of the parabola given by the equation f(x) = 3x% + 2x — 1is
12
e (=]

b. (3.2)

[Re]



¢ (4)
d e

e. None of the above

10. Find the horizontal asymptote (HA) and vertical asymptote (VA) of

f()_3x—1
e
a. HAry=-1 VA::L’=§
3 1
b. HA:y =~ VA:x =
3
c. HAiy=-1 VAIx =7
d. HA:y=1 VArx =2

e. None of the above

1L 1 () =1-2and g(x) = x = 1, find (g  /)(x)

a. 1
b. x
c. x+1
d. =
X
1
g ==
X

12. Find the remainder when f(x) = x%8 + 5x — 2 is divided by (x + 1)

a. -3
b -4
c. -5
d -6
e. None of the above

13. Solve the inequality EJ‘;:_% <0



14. Which of the following is the horizontal asymptote to the exponential function  f(x) = —3* +2
y=0
b. y=-3
c. y=-1
d y=2
e. y=-—2

15. The domain of f(x) = log(3 —2x) + S is

a. (—oo,00)

b. (—o0,2)
c. (—,1.5)
d. (—~o,5)

None of the above

@

16. The solution to the equation2 — 3ln(x + 1) =8 is

a. —1+e?
ef-2
3
c. e ®-1
d 3

e. None of the above

17. Solve the exponential equation

2.‘(’ :4_1
a x=2,
b. x=0x=2
c. x=1
d x=4x=2
e s O

18. Use the change of base formula to find log, () in base 10.



log(3)

log(r)
b. log("/3)

log ()
© log
d. log(3/m)

19. Find the accumulated amount if $8000 is invested into an account that pays 8% interest compounded

continuously for 5 years.

a. $6885.66
b. $8243.64
c. $9290.51

$9294.67

e. $11934.60

.. . . i ok 5 5
20. Find the inverse of the function f(x) = sm(g), where =0 Sx =T,

1

=1(+Y =
a flx)= sin(5x)
b. [ (x) = cse(5x)
c. flx)= %sin’l(x)
d. f7'(x) = 5sin"*(x)
-1 R
e. f(x)=sin""(>)
21. A central angle measuring 45°is in a circle of radius 2 meters. Find the length of the arc of the circle

subtended by the angle
a. 2 meters

b. 45 meters
c. 2m meters

d. 1 meters

b
e. - meters

22. Find &i"j—"’—“—) o) =x2+1

a. 1
b. 2



c. 2+4+h
d. h®+4+2h—-1
e. h

; -5
23. Find the exact value of csc(—;lr)

Vi
q, o
2
b, V2
2
c. V2
P
d. =2

e. None of the above

= p 2 w3
24. Suppose that sinf = = and @ is in Quadrant 4. Evaluate sec 6
=L
2. —=
V29
g A
b. T
V21
c V29
’ 2
d Vz21
’ 5
e 5
V21

B . . g . . 7
25. Use the appropriate sum or difference identity to find the exact value of cos(f)

a \’3-\-%
' 4
/246
A 6.
b_ il
4
c V6-2
. 4
6+V2
d. -
4

e. None of the above

26. Find cos(26) if sin(g) = 2

5
a 1



29.

30.

25
7
g
25
12
q, ==
25
6
g =2
5

The range of the function f(x) = 5sin[2(x + g)] — 4 is
a. [-1,1]
mo
b- (=53]
c. [-1,9]
d [-91]
e. None of the above.

. . : 22
Find the angle co-terminal with — TH

n
a.  —
3
m
b .
3
22
., ==
3
2n
d. ==
3

e. None of the above

Find the exact value of cot ™' (1).

hie
a. s
4
i s
b k]
4
3
G =
4
3n
d. FR i
4

e. None of the above.

A 79 foot guy wire is attached to the top of the 23 foot antenna and to a point on the ground. What angle
does the guy wire make with the ground? See the figure below.



GUY WIRE
ANTFNNA

GROUND

a. 21.54°
b. 16.93°
c. 30°

d. 17.5°

e.  None of the above

31. Convert 210° to radians. Express your answer as a multiple of” 7.

2
a.
3
Sm
b. —=—
6
6
c, —
7
7n
d —
6

e. None of the above

32. The general solution of the equation cos (20) = 1 is
a. km
b. 0
c. 2km
d. >+ 2kn
e. %E + 2kn

33. (cosa + sin a)?equals to which of the following?
a. 1—cos(Za)
b. 1+ cos(Za)
c. 1-sin(2a)



34. Find the length of the side ¢ in the triangle ABC where a = 4.7,b = 10.21 and £ACB = 105.3°

o Ao o p

d. 1+sin(Za)
e. None of the above

20
18.1
15.2
12.3
11

" Find the value of x in the following triangle. Round your answer to two decimal places.

18.79
16.10
12.86
8.39

17.32





